Happy Humpday!
Hope you are all well.

Take a look at the Lego challenge ideas sent in

by Isabelle. She has made her dream bedroom (that looks like quite a
large screen Isabelle!). | have heard that others of you have been
doing this so send in your favourite examples and | can share them
with the class.
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Quick maths answers from
yesterday




Challenge answer

Fabulous

Awesome

1a. Example answer: height = 10cm;

base = 5cm; area = 25¢m?

2a. Mia is correct because A = 10cm? and
B =5cm?2. A is twice as big as B.

3a. A= 7cm x 12cm = 84cm?, B4cm?+ 2 =
42cm?

B=10cm x 8cm = 80cm?, 80cm?+ 2 =
40cm?

42cm? - 40cm? = 2cm?

4a. Various answers, for example:
height = 70cm; base = 20cm;

area = 700cm?

5a. Abby is correct because A = 24cm?
and B = 27cm?. 27cm? is larger than
24cm2.

éa. A= 3cm x 8cm = 24dcm?, 24dcm? £+ 2 =
12cm?

B=4cm x 9cm = 34cm?, 3écm? + 2 =
18cm?

18cm2 - 12cm? = écm?

1b. Example answer: height = écm;

base = 9cm; area = 27cm?

2b. Matt is correct because A = 44cm?
and B = 36cm?. 44cm? is larger than
36cm?2.

3b. A=12cm x 5cm = 60cm?, 60cm? + 2 =
30cm?

B=9mx écm=54cm? 54cm? + 2 =
27cm?

30cm? - 27cm? = 3cm?

4b. Various answers, for example:

height = 12cm; base = 12cm;

area = 72cm?

5b. Mo is correct because A = 18cm? and
B=écm 6cm?x 3 =18cm.

éb. A= écmx 12cm =72cm?, 72m?2 + 2 =
36cm?

B=7cmx 12cm = 84cm?, 84dcm? + 2 =
42cm?

42cm? - 36%cm = écm?




Fantastic

7a. Various answers, for example:

height = 110cm; base = 110cm;

area = §,050cm?

8a. Cory is incorrect because A = 31.5m?
and B = 28mZ2. 31.5m?is larger than 30m?2.
9a. A= 9m x 10m = 90m?, 90m2+ 2 = 45m?
B=11mx ém = é6mZ% 66m?+ 2 = 33m?
45m2=33m? = 12m?

7b. Various answers, for example:

height = 30mm; base = 90mm,;

area = 1,350mm?

8b. Penn is correct because A = 17.5m?
and B = 8.75m2 8.75m?is half of 17.5m2.
9b. A= 7cm x 7cm = 49cm?, 49cm?+ 2 =
24.5cm?

B=7cmx écm=42cm? 42cmi+2 =
21em?

24.5cm?-21em? = 3.5cm?



English answers

Subordinate Clauses

Answers

1 Finish off the sentences by adding more detail to these subordinate clauses.

Multiple answers possible here. Suggestions are listed below
a) While the rain poured down, the puddles grew bigger.

b) Before the party had started, the quests were getting ready.

c) Unless the bus arrives, | will have to start walking.

d) When you have finished your homework, _You can have a kiss.

e) While the Christmas tree is up, the room seems smaller.

1 Finish off the sentences by adding more detail to these subordinate clauses.

Multiple answers possible here. Suggestions are listed below
a) While the rain poured down, the puddles grew bigger.

b) Before the party had started, the guests were getting ready.

c) Enjoy being a child before it's too late.

d) 1 ean’t help you because | don't know the answer.

2. Now try add[n.g an embedded clause into this sentence.

Multiple answers possible here. Suggestions are listed below
a) Alan the footballer, oho is very tall , scored the first goal.




~ Subordinate Clauses

Answers

L1 Finish off the sentences by adding more detail to these subordinate clauses.

Multiple answers possible here. Suggestions are listed below
a) While the rain poured down, the puddles grew bigger.

b) Before the party had started, the guests were getting ready.

c) Enjoy being a child before it's too late.

d) | ecan’t he.l‘p You because | don't know the answer.

Mow try adding an embedded dause into this sentence.

Multiple answers possible here. Suggestions are listed below
a) Alan the footballer, who is very tall , scored the first goal.

These sentences begin with a main dause. Add a subordinate dause to each one to
finish the sentences. Remember that the subordinate clause should not make sense
On its own

Multiple answers possible here. Suggestions are listed below
a) Jack plays rugby despite having a sore knee.

b) Tim likes to draw  even when he’s tired.

c) Flying a kite is fun  especially when it is windy.

d) I love sunny mornings because they make me smile.

e) Bath time is fun in our house particularly when we play with the bubbles.

Please note: for guestion
2, this is a relative clause,
which is also a subordinate
(dependent clause).



Answers for Spellings: according
available
recognise
foreign
especially
sincerely
awkward
vegetable



For English today, read the extract on the next slide about ‘Windrush’. You may recall some of this real story from
‘Evelyn and the Yellow Birds’ that we saw at Saffron Hall. Evelyn is one example of people who migrated here known
as the ‘Windrush Generation’.

Then, read the poem by John Agard.

Consider these questions when you read it:

What words in the poem tell us where the child has come from or is going to?

Why do you think the child is described as ‘stepping into history?’

What do you think the feelings of the child are? What lines in the poem give us clues?

Reread the poem and focus on the final three stanzas — what do these lines suggest about how the child should face
the future?

Make some notes in your book about these questions

After that, complete the table on the next slide (you can draw the table with headings in your Home Learning book).



EMPIRE WINDRU

LONDON

The Windrush

The Empire Windrush was a ship which
brought people from the Caribbean to live
and work in Britain, The ship docked in London on
220d June 1948. The 492 possengers are remembered
today because they were the first of many large groups
of magrants from the Canbbean who came to Britain
atter the end of World War Two. This 1 now seen as

an imporrant milestone in modern Brivsh history,

Like the child in the poem, the people who sailed on
the Windrush and lacer ships sere sad at leaving their
home but also excited and full of dreams for their
new life. Most of them had very idealisue views of
what Britaun would be bke. Newspapers at the time
reported thor some thought the streets of London
really were paved with gold! Sadly some of the
Windrush’s migrans were not made as welcome in
Bricamn as they had expected. They found it hard to
find jobs and housing because of racist otttudes at the
time. The climate in Britain also seemed cold, wet and
unwekoming after the Caribbean sunshine.

However, the "Windrush Generation’ succeeded
i moking Britain their home
and they and their families hove
gone on to become an mportant

part of Brivsh life.




and you Windrush child
think of grandmother
elling you don't forget to write

Windrush child stepping in a big ship
blue water rolling by not knowing how long the journey
: ' : or that you're stepping into history
beside you
Windrush child n bringing your Caribbean eye
your Windrush mum and dad ’ to another horizon
~ grandmother’s words your shining beacon
think of storytime yard
and mango mornings b ' learning how to fly
£ ‘ , the kite of your dreams
and new beginnings i : ~inan English sky
- doorsclosing and opening | ' e




Marme:

Past, present and future

Continue the table below by putting words and phrases
from the poem Windrush Child about the past. the present

and the future.

22

The past in the

The present on the

The future in

Caribbean ship Ergland
Pl tregs wane Seabimls azking winy | Mo beginsedegs
poodlbge
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In maths, you have been calculating the area of a triangle and we are now going to move on to calculating the area of a
parallelogram.

For those of you not in last week, we worked out that the formula for this is the same as a rectangle (Base x Height)

but you must remember it is the perpendicular height not the angled height.

If you want to check this out, make a parallelogram with a piece of card or paper and cut off the triangle on the end

(as in the image below), you can then reposition the triangle at the other end to make a rectangle with your cut off piece.

If that doesn’t make sense, watch this:
https://www.bbc.co.uk/bitesize/topics/zrf3cdm/articles/zgkh97h

Area of Parallelograms

base x perpendicular height = area of a parallelogram o
(BBC Bitesize area of parallelograms)
A parallelogram can be transformed into a rectangle.

/ | base = 12cm

I perpendicular height = 6cm 12cm * 6cm = 72cm?



https://www.bbc.co.uk/bitesize/topics/zrf3cdm/articles/zgkh97h

Calculate the area of each parallelegram
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Now try some “
d
of these: s o
¢
v
fem Som
Area = Area =
3. &
)
3
Tem i Zem
3cm
1
Germ
Area = Area =
§ [
l.
&
dern 3em
¥
: bem
Scm

Area = Area =




Sem Jem.
Bem Sem
Area = Areq =
9 10
[
fem Bem
¥
Tem T2em
Area = A =
1. 12,
3
b Bern,
15¢m T
Area = Aren =
13 14,
E
/ derm / Jim
13em
Iigem

Areg = Hreg =




0. 2.
12em / 13em
20cm e
Area = Areq =
2. 23
Mdem, \ 16em
S4%cm,
Flem
Area = A =
24 12
43cm \ o
S
&iem
Area = Arga =

Spot the random
guestion numbering!



